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Hekdesh is not nullified even in a thousand — %2 X% 7782 Y295R WP

OVERVIEW

827 explained the reason why bread which is baked with 797y °X¥¥ is permitted,
however bread which is baked wps “xva is forbidden is because 777V is 52
0*nR»2, however wTpn (is more stringent since) is not 702 even 7?X2. Our MoOIN
takes exception to this explanation.

nooIn asks:
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It is astounding! Why kind of severity is this (that 502 X% 7782 7908 w7pn); for is

not WP a 37 0% 12 wow 127 through exchanging it with 1911 -
$(3,79m NN YWD 12299NRTI 192919 199N IP NDINL 1DYAN VA NNY 1397 1PN N DY)

And it is for this reason (that it is a P°nn 12 w>w 127) that there is no rule of
Y3 (regarding a n">wT [including wipi]); even if it is a minor prohibition® and
even if it is a Rabbinic prohibition® as the x7n3 states in the beginning of non
X923, Our MpdoIN leaves us with a question.

SUMMARY
WP is not 79X "OR Y01 since it is a 1" NN 17 WOw 2T,

THINKING IT OVER

Seemingly we can (answer mo0n question and) argue that the bread is 770X since
(it is [like] a N 12 wow 127, for) it is possible to redeem the wpn value that the
bread absorbed and the bread will become nn!’

" ppn 9 wow 927 (something which can be permitted) refers to items which are currently prohibited, but it is
possible for them to become permissible. For instance an egg which was laid on ©"1 is forbidden to be eaten on v"
but it is permitted to be eaten after v"v. If this egg became mixed up with other eggs on v"v (even one prohibited
egg in a thousand permissible eggs), they are all prohibited from being eaten on v"1. The reason is that this a v>w 727
1990112 (we can wait till after v"v and all the eggs will be permitted), and is not 7782 "“5X 2.

2 wTpn is also a P71’ 12 wow 127 since (even though while it is WP one may not derive benefit from it, nevertheless)
the w7pn can be redeemed by paying the treasurer of w7pr its value and the 7w17p of wWpn transfers from the original
w7Pn to the money or item given to WTpH in its stead.

* The reason why W7p7 is not 77X¥2 "X 711 is not (necessarily) because of the severity of wTpi (over 777v), but rather
because wTpn is a n"7w7, and be every n"?wT even if it is a minor MoK it is not 7v3.

* See footnote # 1. A v"1a 772U 72 is MOX (on v") only 13217, and nevertheless 2"9w7 applies to it as well.
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